
Sreda, 29. avgust 2012

Državni  izpitni  center

SPLOŠNA MATURA

© RIC 2012

NAVODILA ZA OCENJEVANJE

*M12278113* JESENSKI IZPITNI ROK



M
12

2-
78

1-
1-

3 
 

2 

IZ
P

IT
N

A
 P

O
LA

 1
 

N
al

og
a 

T
oč

ke
 

O
dg

ov
or

 
D

od
at

na
 n

av
od

ila
 

1 
2 


 D

 
 

2 
2 


 A

 
 

3 
2 


 E

 
 

4 
1 


 x

 =
 -3

 
 

 
1 


 y

 =
 -5

 
 

Sk
up

aj
 

2 
 

 
5 

2 

 B

 
 

6 
2 


 B

 
 

7 
2 


 A

, B
, E

 
E

n 
pr

av
iln

i o
dg

ov
or

 1
 to
čk

a,
 tr

ije
 p

ra
vi

ln
i  

2 
to
čk

i, 
že

 e
n 

ne
pr

av
ile

n 
0 

to
čk

. 
8 

2 

 A

 
 

9 
2 


 C

 
 

10
 

2 

 k

on
st

ru
kt

or
 

 
11

 
1 


 1

 1
 2

 2
 3

 3
 4

 4
 5

 5
  

 
 

1 

 2

 2
 4

 4
 6

 6
 8

 8
 1

0 
10

 
 

Sk
up

aj
 

2 
 

 
12

 
2 


p
u
b
l
i
c
 
c
l
a
s
s
 
v
a
j
a
1
 
{
 

 
 
 
p
u
b
l
i
c
 
s
t
a
t
i
c
 
v
o
i
d
 
m
a
i
n
(
S
t
r
i
n
g
[
]
 
a
r
g
s
)
 

 
 
 
{
 

 
 
 
i
n
t
 
a
 
=
 
3
;
 

 
 
 
 
 
 
i
n
t
 
b
 
=
 
4
;
 

 
 
 
 
 
 
d
o
u
b
l
e
 
c
 
=
 
M
a
t
h
.
s
q
r
t
(
M
a
t
h
.
p
o
w
(
a
,
2
)
 
+
 
M
a
t
h
.
p
o
w
(
b
,
2
)
)
;
 

 
 
 
 
 
 
d
o
u
b
l
e
 
o
b
s
e
g
 
=
 
a
 
+
 
b
 
+
 
c
;
 

 
 
 
 
 
 
d
o
u
b
l
e
 
p
l
o
s
c
i
n
a
 
=
 
(
a
 
*
 
b
)
 
/
 
2
;
 

  
 
 
 
 
 
S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(
"
o
b
s
e
g
 
t
r
i
k
o
t
n
i
k
a
 
j
e
"
 
+
 
o
b
s
e
g
+
 
"
c
m
"
)
;
 

 
 
 
 
 
 
S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(
"
p
l
o
š
č
i
n
a
 
t
r
i
k
o
t
n
i
k
a
 
j
e
"
 
+
 
p
l
o
s
c
i
n
a
 
+
 

"
k
v
a
d
r
a
t
n
i
h
 
c
m
"
)
;
 

 
 
 
}
 

}
 

U
po

ra
ba

 k
nj

iž
ni

ce
 M

at
h 

1 
to
čk

a.
 

P
ot

ek
 in

 iz
pi

s 
pr

og
ra

m
a 

1 
to
čk

a.
 

 
 



M
12

2-
78

1-
1-

3 
 

3 

N
al

og
a 

T
oč

ke
 

O
dg

ov
or

 
D

od
at

na
 n

av
od

ila
 

13
.1

 
4 


  p
a
c
k
a
g
e
 
n
a
k
l
j
u
c
n
o
2
;
 

i
m
p
o
r
t
 
j
a
v
a
.
u
t
i
l
.
*
;
 

 p
u
b
l
i
c
 
c
l
a
s
s
 
N
a
k
l
j
u
c
n
a
S
t
e
v
i
l
a
 
{
 

 
 
 
 
i
n
t
 
[
]
 
t
a
b
 
=
 
n
e
w
 
i
n
t
[
1
0
]
;
 

 
 
 
 
N
a
k
l
j
u
c
n
a
S
t
e
v
i
l
a
 
(
)
 
{
 

 
 
 
 
 
 
 
 
i
n
t
 
i
;
 

 
 
 
 
 
 
 
 
R
a
n
d
o
m
 
s
t
e
v
i
l
o
 
=
 
n
e
w
 
R
a
n
d
o
m
(
)
;
 

 
 
 
 
 
 
 
 
f
o
r
 
(
i
=
0
;
i
<
1
0
0
0
0
;
i
+
+
)
 

 
 
 
 
 
 
 
 
{
 
 
 
 
t
a
b
[
s
t
e
v
i
l
o
.
n
e
x
t
I
n
t
(
1
0
)
]
+
+
;
 

 
 
 
 
 
 
 
 
}
 

 
 
 
 
}
 

v
o
i
d
 
i
z
p
i
s
N
a
j
p
o
g
o
s
t
e
j
s
i
h
 
(
)
 
{
 

 
 
 
 
 
 
i
n
t
 
m
a
x
 
=
 
t
a
b
[
0
]
;
 

 
 
 
 
 
 
i
n
t
 
i
;
 

 
 
 
 
 
 
 
 
f
o
r
 
(
i
=
0
;
i
<
1
0
;
i
+
+
)
 

 
 
 
 
 
 
 
 
 
 
 
 
i
f
 
(
t
a
b
[
i
]
>
m
a
x
)
 
m
a
x
=
t
a
b
[
i
]
;
 

 
 
 
 
 
 
 
 
f
o
r
 
(
i
=
1
;
i
<
1
1
;
i
+
+
)
 

 
 
 
 
 
 
 
 
 
 
 
 
i
f
 
(
t
a
b
[
i
-
1
]
=
=
m
a
x
)
 
S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
(
i
 
+
 
"
 
"
)
;
 

  
 
 
 
}
 
 

}
 
p
a
c
k
a
g
e
 
n
a
k
l
j
u
c
n
o
2
;
 

  p
u
b
l
i
c
 
c
l
a
s
s
 
M
a
i
n
 
{
 

 
 
 
 
p
u
b
l
i
c
 
s
t
a
t
i
c
 
v
o
i
d
 
m
a
i
n
(
S
t
r
i
n
g
[
]
 
a
r
g
s
)
 
{
 

 
 
 
 
 
 
N
a
k
l
j
u
c
n
a
S
t
e
v
i
l
a
 
x
 
=
 
n
e
w
 
N
a
k
l
j
u
c
n
a
S
t
e
v
i
l
a
(
)
;
 

 
 
 
 
 
 
x
.
i
z
p
i
s
N
a
j
p
o
g
o
s
t
e
j
s
i
h
(
)
;
 

 
 
 
 
}
 

} 

U
st

va
rja

nj
e 

ta
be

le
 in

 k
lic

 m
et

od
e 

za
 

po
ln

je
nj

e 
ta

be
le

 1
 to
čk

a.
 

Š
te

tje
 p

og
os

to
st

i p
oj

av
itv

e 
po

sa
m

ez
ni

h 
vr

ed
no

st
i v

 ta
be

li 
1 

to
čk

a.
 

Is
ka

nj
e 

na
jp

og
os

te
jš

eg
a 

el
em

en
ta

 1
 to
čk

a.
 

Iz
pi

s 
do

bl
je

ni
h 

re
zu

lta
to

v 
1 

to
čk

a.
 

  
 



M
12

2-
78

1-
1-

3 
 

4 

N
al

og
a 

T
oč

ke
 

O
dg

ov
or

 
D

od
at

na
 n

av
od

ila
 

14
.1

 
4 


  p
r
i
v
a
t
e
 
s
t
a
t
i
c
 
v
o
i
d
 
z
a
k
o
d
i
r
a
j
D
a
t
o
t
e
k
o
(
S
t
r
i
n
g
 
i
z
v
o
r
n
a
D
a
t
o
t
e
k
a
,
S
t
r
i
n
g
 

z
a
k
o
d
i
r
a
n
a
D
a
t
o
t
e
k
a
)
 
t
h
r
o
w
s
 
I
O
E
x
c
e
p
t
i
o
n
 
 

{
 
 
 
 
 
 
B
u
f
f
e
r
e
d
R
e
a
d
e
r
 
b
r
a
n
j
e
=
 
n
e
w
 
B
u
f
f
e
r
e
d
R
e
a
d
e
r
 
(
 
n
e
w
 
F
i
l
e
R
e
a
d
e
r
 

(
i
z
v
o
r
n
a
D
a
t
o
t
e
k
a
)
)
;
 

 B
u
f
f
e
r
e
d
W
r
i
t
e
r
 
p
i
s
a
n
j
e
=
n
e
w
 
B
u
f
f
e
r
e
d
W
r
i
t
e
r
 
(
n
e
w
 
F
i
l
e
W
r
i
t
e
r
 

(
z
a
k
o
d
i
r
a
n
a
D
a
t
o
t
e
k
a
)
)
;
 

  
 
 
 
 
w
h
i
l
e
 
(
b
r
a
n
j
e
.
r
e
a
d
y
 
(
)
)
{
 

 
 
 
 
 
 
 
 
p
i
s
a
n
j
e
.
w
r
i
t
e
(
(
c
h
a
r
)
(
b
r
a
n
j
e
.
r
e
a
d
(
)
-
5
)
)
;
 

 
 
 
 
 
 
 
 
}
 

 
 
 
 
 
 
 
 
p
i
s
a
n
j
e
.
c
l
o
s
e
 
(
)
;
 

 
 
 
 
 
 
 
 
b
r
a
n
j
e
.
c
l
o
s
e
(
)
;
 

}
 
 p
r
i
v
a
t
e
 
s
t
a
t
i
c
 
v
o
i
d
 
o
d
k
o
d
i
r
a
j
D
a
t
o
t
e
k
o
(
S
t
r
i
n
g
 
z
a
k
o
d
i
r
a
n
a
D
a
t
o
t
e
k
a
)
 

t
h
r
o
w
s
 
I
O
E
x
c
e
p
t
i
o
n
 
 

{
 
 
 
 
 
 
B
u
f
f
e
r
e
d
R
e
a
d
e
r
 
b
r
a
n
j
e
=
 
n
e
w
 
B
u
f
f
e
r
e
d
R
e
a
d
e
r
 
(
 
n
e
w
 
F
i
l
e
R
e
a
d
e
r
 

(
z
a
k
o
d
i
r
a
n
a
D
a
t
o
t
e
k
a
)
)
;
 

  
 
 
 
 
w
h
i
l
e
 
(
b
r
a
n
j
e
.
r
e
a
d
y
 
(
)
)
{
 

 
 
 
S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
 
(
(
c
h
a
r
)
(
b
r
a
n
j
e
.
r
e
a
d
(
)
+
5
)
)
;
 

 
 
 
 
 
 
 
 
}
 

 
 
 
 
 
b
r
.
c
l
o
s
e
 
(
)
;
 

}
 

G
la

va
 o

be
h 

m
et

od
 1

 to
čk

a.
 

O
dp

ira
nj

e 
in

 z
ap

ira
nj

e 
da

to
te

ke
 1

 to
čk

a.
 

B
ra

nj
e 

in
 z

ap
is

ov
an

je
 v

 d
at

ot
ek

o 
1 

to
čk

a.
 

K
od

ira
nj

e 
in

 d
ek

od
ira

nj
e 

zn
ak

ov
 p

o 
pr

av
ilu

 
1 

to
čk

a.
 

  
 



M
12

2-
78

1-
1-

3 
 

5 

 

N
al

og
a 

T
oč

ke
 

O
dg

ov
or

 
D

od
at

na
 n

av
od

ila
 

15
.1

 
4 


  p
u
b
l
i
c
 
c
l
a
s
s
 
x
 
{
 

 
 
 
 
 
 
 
 
p
u
b
l
i
c
 
s
t
a
t
i
c
 
v
o
i
d
 
m
a
i
n
(
S
t
r
i
n
g
 
[
]
 
a
r
g
s
)
{
 

  
 
 
 
i
n
t
 
e
m
s
o
[
]
=
 
{
2
,
4
,
0
,
1
,
9
,
9
,
2
,
5
,
0
,
0
,
1
,
9
,
2
}
 
;
 

 
 
 
 
i
n
t
 
v
s
o
t
a
 
=
0
;
 

 
 
 
 
b
o
o
l
e
a
n
 
p
r
a
v
i
l
e
n
 
=
 
f
a
l
s
e
;
 

 
 
 
 
f
o
r
(
i
n
t
 
i
 
=
 
0
,
j
 
=
 
7
;
i
 
<
 
6
;
 
i
+
+
,
 
j
-
-
)
{
 

 
 
 
 
 
 
 
 
 
v
s
o
t
a
 
+
=
 
(
e
m
s
o
[
i
]
 
*
 
j
)
 
+
 
(
e
m
s
o
[
i
 
+
 
6
]
 
*
 
j
)
;
 

 
 
 
 
}
 

 
 
 
 
i
n
t
 
o
s
t
a
n
e
k
 
=
 
v
s
o
t
a
 
%
 
1
1
;
 

 
 
 
 
i
f
(
o
s
t
a
n
e
k
 
=
=
 
0
)
{
 

 
 
 
 
 
 
 
 
i
f
(
e
m
s
o
[
1
2
]
 
=
=
 
0
)
 

 
 
 
 
 
 
 
 
p
r
a
v
i
l
e
n
 
=
 
t
r
u
e
;
 

 
 
 
 
}
e
l
s
e
{
 

 
 
 
 
 
 
 
 
i
f
(
e
m
s
o
[
1
2
]
 
=
=
 
1
1
 
-
 
o
s
t
a
n
e
k
)
 

 
 
 
 
 
 
 
 
 
 
 
 
p
r
a
v
i
l
e
n
 
=
 
t
r
u
e
;
 

 
 
 
 
}
 

 
 
 
 
i
f
 
(
p
r
a
v
i
l
e
n
)
 
 

 
 
 
 
S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(
"
E
m
š
o
 
j
e
 
p
r
a
v
i
l
e
n
"
)
;
 

 
 
 
 
e
l
s
e
 

 
 
 
 
S
y
s
t
e
m
.
o
u
t
.
p
r
i
n
t
l
n
(
"
E
m
š
o
 
n
i
 
p
r
a
v
i
l
e
n
"
)
;
 

 
 
 
 
}
}
 

D
ek

la
ra

ci
ja

 in
 in

ic
ia

liz
ac

ija
 ta

be
le

 1
 to
čk

a.
 

Iz
ra
ču

n 
ko

nt
ro

ln
e 

vs
ot

e 
1 

to
čk

a.
 

Iz
ra
ču

n 
ko

nt
ro

ln
e 

št
ev

ilk
e 

1 
to
čk

a.
 

U
go

ta
vl

ja
nj

e 
pr

av
iln

os
ti 

vr
ed

no
st

i E
M

S
O

 in
 

iz
pi

s 
re

zu
lta

ta
 1

 to
čk

a.
 

  
 



M
12

2-
78

1-
1-

3 
 

6 

 

N
al

og
a 

T
oč

ke
 

O
dg

ov
or

 
D

od
at

na
 n

av
od

ila
 

16
.1

 
4 


  p
u
b
l
i
c
 
c
l
a
s
s
 
K
i
n
o
 
 

{
 
 
 
 
 
 
 
i
n
t
 
s
t
e
v
i
l
k
a
_
d
v
o
r
a
n
e
;
 

 
 
 
 
 
 
c
h
a
r
 
t
a
b
e
l
a
_
s
e
d
e
z
e
v
[
]
[
]
;
 

  
 
 
K
i
n
o
(
i
n
t
 
s
t
e
v
i
l
a
_
d
v
o
r
a
n
e
,
i
n
t
 
s
t
e
v
i
l
o
_
v
r
s
t
,
i
n
t
 
s
t
e
v
i
l
o
_
s
t
o
l
p
c
e
v
)
 

 
 
 
{
 

 
 
 
 
 
 
t
h
i
s
.
s
t
e
v
i
l
k
a
_
d
v
o
r
a
n
e
=
s
t
e
v
i
l
k
a
_
d
v
o
r
a
n
e
;
 

 
 
 
 
 
 
t
h
i
s
.
t
a
b
e
l
a
_
s
e
d
e
z
e
v
=
n
e
w
 
c
h
a
r
[
s
t
e
v
i
l
o
_
v
r
s
t
]
[
s
t
e
v
i
l
o
_
s
t
o
l
p
c
e
v
]
;
 

 
 
 
}
 

  
 
 
p
u
b
l
i
c
 
v
o
i
d
 
z
a
s
e
d
i
_
s
e
d
e
z
(
i
n
t
 
v
r
s
t
a
,
 
i
n
t
 
s
t
o
l
p
e
c
)
 

 
 
 
{
 

 
 
 
 
 
 
T
a
b
e
l
a
_
s
e
d
e
z
e
v
[
v
r
s
t
a
]
[
s
t
o
l
p
e
c
]
=
'
x
'
;
 

 
 
 
}
 
 

  
 
 
p
u
b
l
i
c
 
i
n
t
 
s
t
e
v
i
l
o
_
p
r
o
s
t
i
h
_
m
e
s
t
(
)
 

 
 
 
{
 

 
 
 
 
 
 
i
n
t
 
s
t
e
v
i
l
o
_
p
r
o
s
t
i
h
_
m
e
s
t
=
0
;
 

 
 
 
 
 
 
f
o
r
(
c
h
a
r
[
]
 
v
r
s
t
a
:
t
a
b
e
l
a
_
s
e
d
e
z
e
v
)
{
 

 
 
 
 
 
 
 
 
 
f
o
r
(
c
h
a
r
 
s
e
d
e
z
:
v
r
s
t
a
)
{
 

 
 
 
 
 
 
 
 
 
 
 
 
i
f
(
s
e
d
e
z
!
=
'
x
'
)
 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
s
t
e
v
i
l
o
_
p
r
o
s
t
i
h
_
m
e
s
t
+
+
;
 

 
 
 
 
 
 
 
 
 
}
 

 
 
 
 
 
 
}
 

 
 
 
 
 
 
r
e
t
u
r
n
 
s
t
e
v
i
l
o
_
p
r
o
s
t
i
h
_
m
e
s
t
;
 

 
 
 
}
 

}
 

D
ek

la
ra

ci
ja

 ra
zr

ed
a 

1 
to
čk

a.
 

K
on

st
ru

kt
or

 ra
zr

ed
a 

in
 p

ra
vi

ln
a 

up
or

ab
a 

da
ni

h 
pa

ra
m

et
ro

v 
1 

to
čk

a.
 

M
et

od
a 

za
se

di
_s

ed
ez

 1
 to
čk

a.
 

M
et

od
a 

st
ev

ilo
_p

ro
st

ih
_m

es
t 1

 to
čk

a.
 

 Sk
up

no
 š

te
vi

lo
 to

čk
 IP

 1
: 4

0 
 

 



M
12

2-
78

1-
1-

3 
 

7 

IZ
P

IT
N

A
 P

O
LA

 2
  

N
al

og
a 

T
oč

ke
 

O
dg

ov
or

 
D

od
at

na
 n

av
od

ila
 

1 
2 


 B

 
 

2 
2 


 B

 
 

3 
2 


 A

 
 

4 
2 


 B

 
 

5 
2 


 B

 
 

6 
2 


 D

 
 

7 
2 


 C

 
 

8 
2 


 C

 
 

9 
2 


 B

 
 

10
 

2 

 C

 
 

11
 

2 

 C

 
 

12
 

2 

 B

 
 

13
 

2 

 D

 
 

14
 

2 

 B

, C
 

E
n 

pr
av

iln
i o

dg
ov

or
 1

 to
čk

a,
 o

ba
 2

 to
čk

i, 
že

 e
n 

ne
pr

av
ile

n 
od

go
vo

r 0
 to
čk

. 
15

 
2 


 E

 
 

16
 

2 

 D

 
 

17
 

2 

 C

 
 

18
 

2 

 C

 
 

19
 

2 

 C

 
 

20
 

2 

 p

ro
gr

am
er

 
 

21
 

1 

 O

R
D

E
R

 B
Y 

 
 

1 

 D

IS
TI

N
C

T 
 

Sk
up

aj
 

2 
 

 
22

 
1 


 s

kr
bn

ik
a 

po
da

tk
ov

ne
 b

az
e 

 
 

1 

 p

ro
gr

am
er

ja
 

 
Sk

up
aj

 
2 

 
 

 
 



M
12

2-
78

1-
1-

3 
 

8 

N
al

og
a 

T
oč

ke
 

O
dg

ov
or

 
D

od
at

na
 n

av
od

ila
 

23
.1

 
2 


  

E
nt

ite
tn

i t
ip

i 1
 to
čk

a,
 a

tri
bu

ti 
in

 o
zn

ak
e 

kl
ju
če

v 
en

a 
to
čk

a.
 

23
.2

 
2 


 U

st
re

zn
e 

po
ve

za
ve

 o
zn

ač
en

e 
na

 s
lik

i v
 2

3.
1.

 
R

az
m

er
ja

 1
 to
čk

a,
 š

te
vn

os
ti 

1 
to
čk

a.
 

 N
al

og
a 

T
oč

ke
 

O
dg

ov
or

 
D

od
at

na
 n

av
od

ila
 

24
.1

 
2 


  S

E
LE

C
T 

P
.N

as
lo

vP
os

ne
tk

a 
FR

O
M

 P
os

ne
te

k 
P

, A
vt

or
 A

 
W

H
ER

E
 (P

.A
ID

=A
.A

ID
) A

N
D

 (A
.P

rii
m

ek
 L

IK
E

 'M
%

') 

P
ov

ez
ov

an
je

 ta
be

l 1
 to
čk

a,
 p

og
oj

 z
a 

pr
iim

ek
 1

 to
čk

a.
 

 N
al

og
a 

T
oč

ke
 

O
dg

ov
or

 
D

od
at

na
 n

av
od

ila
 

24
.2

 
2 


  S

E
LE

C
T 

C
.N

as
lo

vC
D

,c
ou

nt
(V

.P
ID

) 
FR

O
M

 C
D

 C
, V

se
bi

na
 V

 
W

H
ER

E
 (C

.C
D

ID
=V

.C
D

ID
) A

N
D

 (V
.P

ID
=P

.P
ID

)  
G

R
O

U
P

 B
Y

 C
.N

as
lo

vC
D

 

P
ov

ez
ov

an
je

 ta
be

l i
n 

fu
nk

ci
ja

 z
a 

št
et

je
  

1 
to
čk

a,
 z

dr
už

ev
an

je
 z

ap
is

ov
 1

 to
čk

a.
 

  Sk
up

no
 š

te
vi

lo
 to

čk
 IP

 2
: 5

2 


